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English

Q.1 When he was going he could have crossed the river.
Q.2 He will not leave the place until Ram comes back.

Q.3 Jumbled sentence = Study is Chemicals The of Chemistry

AREE (D). (E) (F) - (€)

Ans. ECBAFD -

basic elements Hundered gold there are suchas oxygen and
B © O ® 6 Q... 0
Ans. EFACBGHD
- Q.5 Change into Passive : I take tea energy morning.
Ans. Tea is taken by me every morning.
Q. 6 Change into Negative : He does his study.
Ans. He does not do his study.
Q.7 Use Future Perfect Tense : I know him.
Ans. Ishall have known him.
Q. 8 Fill in the Blank : How dare you open my cup board.
Q.9 Combine the two sentences by using “inspite of”.
Ans. Inspite of having failed he did not lose heart.
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(v) :

Q. 10 Plural of Mouse

Ans. Mice

Q. 11 Gender of Gentleman

Ans. Lady or Gentle Woman

Q. 12 Fill in the blank : She me to walk straight.
Ans. told

Q. 13 To hang one's Boots (Meaning)

Ans. To retire x

Q. 14 Synoym of Kind

Ans. Benevolent.

G.K.

1. STHSR el @@ e @2
Iw— faar
2. Ui A R — (1) "A2Ea® (2) dAeRX (3) HEnd (4) 9@
SW—-3,2,1,4
3. gUl %E aE — (1) <EeE (2) $E% (3) HHEA (4) TSI
Sa—4, 3,1, 2
4. o= e afaai HEW : 10, 15, 20 e W I9HdI 21 9 UM: 6.10 T IHGdT € af e gam
Fa FHH 2
IW{— LCM 0f 10, 15,20 =60 3T 6,10 ® 1 AT &< 2| 3Td: WA: 7.10 U FHART SAHHI
55 A is a sister of B, B is a brother of C, D is a father of C, the relationship of D and A will be
Ans. daughter (S2%)
6. IfA=2,M=262Z=5279 B+E + T foas ausr g
IW— 54 (4+10+40 ) Clue : (Multiply given number by 2)
7. CENTRAL &% Code=ABCDEDG
PLANETARIUM = HGDC BD EFIJ Kdt LANTERN?
STW—-GFCDBEC
8.  cfiwH 1 efashr ferem fepan?
ST— TRH a9
9. RAM I &g | 1 3ef gar 22
SW{— Random Access Memory
10. Teur=e =1 &% & YR W ¥9d 91 e
ST wEger- wifa
11. oF ®&a 9 2 A 1 HIEd = 700 ¥, U= HiEA 9 3 WS HI HHEA = 1100 T B Al 2 WA
o 2 HIGAT BT ST FAT B2
IAT— ‘ 3x+2y = 700 -..(d)
5x+3y = 1100 -..(ii)
Multiply (i) by 3 and (ii) by 2 and substract
= 9x + 6y = 2100

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




(vi)

10x + 6y = 2200
x = 100,y =200
3T 2x T 2y W HAT = 200 + 400 = 600°F.
12. T AfFEl Hi 4:5 T9F 9 T FH ‘@ ¥ 5 T HH TS wE far v S
SH{—4:5 =x-5:x AT &® =x, @ =x-5=A"

4 x-5

5 X
Put the valueof xin'A'=25-5=20
fA = 25+20=45
13. TP THHASR A SAfhd T W 20% 5 (FE) I FAdt avg +1 =1 ae0 %9 gea | 30% F
9 HEE 2 A% 98 |79 ft g2 7 2 @ IR a9 % fRa g
IT— |IAT SAfeha & = 100
—20% +30%
W gea =80  3ifeRd gewr =130 = . .
FT =130 — 80 = 50
% = %XIOO=62%%
14. TH 91 H 8 Aieft, 5 @A, 4 T T 7 wien 1R IR faw W 9w ™ AT P £ oa =@
e @ 6 9w & At =& R

=4x =5x—25,x =25

e HA NS 8+5+4+7 = 24,
T NE = 4
aﬁzﬁﬁﬁﬁﬂwﬁmﬂﬁﬁwﬁ:%=%wwﬁmaﬁ%ﬁw
1_5
m:l-g-—6 |
15. TR @d | = |99 S 82
IT— YhU

16. IPL = &2

S¥it— Indian Premier League

17. =G S WRe H3 B 22

SWE— & &, WL qEsST

18. BCCI | =31 &1 o7

S7it— Board of Control for Cricket in India

19. =5 55 7 Foel & Ui W I @ Gt 9O @R W 96 T @ A 1 T SR W
S8 2 =% Ssw W 9 o 9| IRHEEY g9 hl 4 3. 1w A 921 we feay o
ot s == =22

SW—-"FT T x == 7=
@E’#x=% st
Hifeh TX &l 719 787 =T =99 S9Er 99 ™ - x-4=96+4
x=104 ...(i1)
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(vii)

Put the value of (ii) in (i)

104-96 =8 :
20.  TF e W wo q9E 9 7P T &1 I Fo w77 ¥ oI A R 224 ) W@l H FA HeA
|
TH— AT 9@ =X, AR =y
S /A R =x+y=77 )
I | U = 2x + 4y =224 wo(ii)
Find the value of x and y
wEor F R & o A
x+y=77 W 4 ¥ TOT HX AAT (i) FH IWA ¥ w€T ]
=4x + 4y = 308
—2x — 4y = -224

=2x=84 = x=42
21 ugawﬁéﬁ@ﬁwhﬁam%ammﬁwﬁtﬁaﬁmzommm%lws.
5 fpeiiex 9o ¥ fea a5a @@ rml
IT— 4 ¥ | wetar € =1km
- 3.5km¥ TN WA = 3.5 x4 =14 6
T U 9 & W% 20 fie e
- 20 T x 3 =60 Tase ar 1 Her
- A WHE 0 =14-1=136e
22. Rd 1 GWfAYE e AR §IAT?
ITTL— 26 SHAA, 1950
23. firmen, 1947 | Uea fhusw! TSuET &t?
IHT— AfawTia WRa &l
24, femme & 9uH GEAEA HE A2
IH— Sio AE.TH. THR
25. UERAEEE ® O@® ST o2
I— I
26. HYT WEX T AR B AR W 7 =W T2
- &
27, Ye fechiforaw fea =t e @2
Ia— A
28.  Olympics ¥ f® W@ ¥ weel Gold Medal S ?
- ITfma f&aT
29. S TN S=IfEs fuwR ®, fRER @ an?
IT— A faees
30. SAARC %1 g Hel 8?2
I— HIGHIG,
31, ofum © feadt awst @ T T R?

Ial— 22
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(viii)

32. KYC =1 @2

3I{— Know Your Customer

33. feurae faum @ @ 3reme WA @2
I— sit o= faerd weat

345" 7:49,°6:36, 4:16, 9:2

Ji— 81

35. 9 Qi oS ast =ef eI THE 9 9E o ©7

IT— Wgad

36.  fe=t IR A ‘=g’ IR ‘HErg’ w1 ¥ e 2

ST— Thig 3T A

37. TF =R 6 fHHL. ufa =2 H TR ¥ A @ 2l IfE wiked 8 . ufa 9 Y R ¥ et
FI @ 2l A% IRY A =R 3R HiLsd H1 g 500 HeX & af Faure) STk fhad §t W Ths
wm?

IAT— g = speed x time
U H X =6x1=6km
maﬁa;&=8x1=8km
AT =8-6=2km : :
fout 2 et e g ag ataT € = 1 62 A

=5 1 ferht, W g A W = o W d

msooﬁa(%ﬁmﬂ.)mﬁn: % x % =(%u’%ﬁ’)
38. VAW 3 20 TS fadd 375 9 ufd g5 & feae @ @R 3R 33 . ufy faein & feaw @
o= &A1 o9 % sadl

375
IT— @as ufa = W=3l'25

fashr = 33 & ufa
HA @U{E = 20 T9F = 240 x 31.25 = 7500
fashir = 20 SI9 = 240 x 33 = 7920
ST, = 7920 - 7500 = 420 &,
420

% N = 7500><100 = 56%
39. W = IEm? 9, 11, 33, 13, 15, 33, 17, ..., 33
IW— 19
40. fo=m =ar 59 @9 9 Ta9 W@l 2?2
ITR— v
41. uRfaga =1 0 TH = 2?2
IWL— USAT
42. U BiSA Gl 2IH FEl 82
I sitefanter
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